Recursion Instances
Knight Tourist (EASY)
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Recursion Instances
Chessboard and Queens (EASY)
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Recursion Instances
Apple Division (EASY)
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Recursion Instances
Gray Code (EASY ~ MEDIUM)
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Recursion Instances
Grid Paths (EASY ~ MEDIUM)
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Recursion Instances
Regex Matching (MEDIUM~HARD)
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* https://leetcode.com/problems/binary-tree-maximum-path-sum/

Constraints:

e The number of nodes in the tree is in the range [1, 3 * 10%].

® -1000 <= Node.val <= 1000




Recursion Instances
Regex Matching (MEDIUM+Memorize)
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* https://leetcode.com/problems/longest-increasing-path-in-a-matrix/

Constraints:

® m == matrix.length
® n == matrix[i].length
® 1 <=m, n <= 200

® 9 <= matrix[i][j] <= 231 -1



Recursion Instances
Regex Matching (MEDIUM~HARD)
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* https://leetcode.com/problems/regular-expression-matching/

Example 2:

Input: s = "aa", p = "ax"
Output: true
Explanation: 'x' means zero or more of the
preceding element, 'a'. Therefore, by repeating
'a' once, it becomes "aa".
Constraints:

Example 3:
® 1 <= s.length <= 20
Input: s = "ab", p = ".%"
Output: true ® 1 <= p.length <= 20
Explanation: ".x*" means '"zero or more (x) of any

character (.)".



Recursion Instances
Regex Matching (HARD+Trie) (WON’T EXPLAIN)
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* https://leetcode.com/problems/word-search-ii

Constraints:

a n ®* m == board. length
® n == board[i].length
e ® 1] <=m, n <= 12
® board[i][j] is a lowercase English letter.
i k r ® 1 <= words.length <= 3 % 10*

® 1 <= words[i].length <= 10

* words[i] consists of lowercase English letters.

e All the strings of words are unique.




Recursion Instances

Tree Analyses (EASY) (WON'T EXPLAIN)
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 https://zerojudge.tw/ShowProblem?problemid=c463
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